th& 219 A2 ABCD &= BAAPAGoth, - sy O] ghE Pt
ofet.




2. & I¥o)A LAED = /ABC, AD = 4cm, AE = 6cm, EC = 2cm
A off, x o] Ao]E Fotoizt.




3. th& 2%°l4 BO//DE 7t M=% steld x o ol Atz Hat
ofof 51717




4. & 194 AD//PQ//BC ¥ i, PQ °] Ho]=?

~-10-~_

A D

p Q

B — — Al
~~-15---

@D 10.5 @ 11 ® 12 ® 12.5 ® 13



u}— P04 H G = AABC o RAEA
122 BC // EF ©|tt. AABC = 126cm? ¢

tﬁi, ADEF 9] ylo]& ~5tofe},

@ 28cm® @ 29cm? @ 30cm?

@ 31cm®> ® 32cm?

Q






7. Thx 299 AABCO| tioto] A 1= Aol x:y:z2=2:3:5
oltt. olull, zy + sz = otoizt.




8.

& Z2d™olA aABC 9] Wol7t 6em?

olE?

@D lem @ 2cm 3) 3cm

@ 4cm

3 5cm



@D 117° @ 118° 3 119° @ 120° B 121°



10. o 2394 H G & AABC ¢ FA%F40]1, DF £ aCDG 9]
Z Aot} AGDF = 12cm? € o], AABC 9 5}0]% J5tolat,

A

Q




D

K

0

el

AP ABCD ©f| A

e o, gEFGHE=

DH

g agsiet

ol



12.

o3 23 2 Afthe]E ABCD oflA] ¥ ABAT 1S M o]}
stal, A M oA ¥ CD o g4 Wd =49 #S | 2 gt

=

ACME = 18, AEMD = 6 & o, Attt8]& ABCD 4 S E= e
SER




13. Eh. o4 BD & aABC o] $410]1, H E &= AB 9] o]5E
JF.a = 4 A= Bho|th AABC = 24em? 9w, AAED ¢}
ADFG o] yolo] g+-2-?

I‘li‘

A
D
E D
)
B # T i G +—C
@ 10cm? @ 12cm? @ 1l4cm?

@ 16cm? ® 18cm?



14. % 283} 2ol £C = 90° ¢l A Zto|5HAZE ABC 9] 959
AD = AC, BD =CD 7} §&=& A D £ &9t} /BDC ¢ 37|&
“Fotoiaf,




15. o2 8- BD : DC =2 : 3,CE: EA =1 : 20]t}
AABC =15 W], aADCE 9] Ho|=?

A




